COMMERCE
PAPER-II
Note : This paper contains fifty (50) objective-type guestions, each gquestion carrying
two {2 marks. Attempt all of thern

1. Job analysis provides information used for :
{AY  Organdsation chart (By Policy

(Cy Procedure (Iy  Prormotion 0

2. In functional organisation :

{AY  The organisation is divided according to the type of work invol

(B} The authority flows from the man at the top 4o the ] zverﬁcall}r_

{Cy Each worker serves only one supervisor

(D% The organisation is divided according to i ed to perform a work
3. Which of the following relates to traini s 7

{A)  Job rotation } duction

(Cy  Vestibule Task

4. 380 degree method re

tions approach of management is assodated with :
braham Maslow {BY DPeter F. Drrucker
Elton Mayo (I Herzberg

6.  Attrition is related to :
{AY Job description (BYy Resignation/Tennination
{Cy  Job evaluation (I Merit rating
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10,

11.

12,

The economnic reformns have failed to -

{AY  Keep flscal deficits to the targeted levels.
(BY Fully implement industrial deregulation.
{C}  Fully open the economy to trade.

(D% All of the above

Which of the following developments was sgf noticed during 1991 {economic ref b 7
{AY  MNational debt was nearly 60 percent of the GNI® of India.

(By Inflation crossed double digits.

{Cy Foreign reserves were maintained at a very high level.

(I} Mone of the above. O
Which of the following statement is fneorvect ? 4

{AY  Even monopolistic can earn losses.

(B}

(<

(D}

one of the above.

Which of the following statermnents is fncorrect 7

(AY  About B0 per cent of agricultural area has irrigation facilities.

{BY About two third area iz rainfed in India.

{Cy  Produchvity per worker in agriculture is zuch lower than that in industry.
(I} Cropping patern is quite skewed in India.
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13. Abolition of intermediaries and tenancy reforms area both parts of -
{AY  Industrial reforms in India
(BY External sector reforms in India.
(Cy  Land reforms in India.
(D% Banking reforns in India

14. Which of the following 1s nef a measure of dispersion ?
{A)  Skewness

{BY Mean Deviation
{Cy  Standard Deviation 0
(DY Quartile Deviation ‘ '
15. The immediate solvency ratio is ¢
{A)  Current Ratio @
(By Quick Rato O
{Cy  Debtors Turmover Ratio
(D% Stock Turnover Ratio @

16. The Foreign Exchange Management was Implemented in the year :
(A) 1996 1997
(C) 1998 y 1999
17. S5EZ Policy in India is ivate the experience of :
(AY Japan (By China
{Cy TUsA @ {0 Germany

1 aedjt :

be increased and Bank Rate should be decreased.

wld be decreased and Bank Rate should be decreased.
should be increased and Bank Rate should be increased.

should ke decreased and Bank Rate should be increased.

18. I order

Ir order to control credit in the courtry, the REI may -
{AY  Buy Securities In the open market.

(B} 5Sell Securities in the open market

{Cy Reduce CRR.

{I%  Reduce Bank Rate.
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(A} 1996 (BY Q99
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20,

21.

22,

235,

24,

Which bank iz called the “Bandc of Isaue” 7
{A} REI (B} SEI
{Cy IDEI (DY ICICI

In order to encourage investment in the country, the REBI may :
(A Reduce CRI

{BY Increase CRR

{Cy  Sell Securities in the open market

{I¥  Increase Bank Rate 0

The term “funds’ as used in ‘funds flow statement means : O

(A} Cash .
(By Current Assets @
(Cy Current Liabilities

(I%  Current Assets rinus Current Liabilities O

What is the “Fundamental Premise of Ecornd@nics

{AY  Individuals are capable of esta
with achievement of those ¢

(BY Natural resources will al i
{Cy  Individuals choose th for which they believe the net gains to be the

and acting in a manner consistent

SCa

greatest.
(D% MNo matter what the tarces, individual chodce always frovolve a trade-off.
The consurneg is in efmilforivwn at a point where the budget line -
(AY Is In@lifference curve
(B} indifference curve

{C to an indifference curve

an Indifference curve

ich of the following statements is correct concerning the relationships among the
firm’s functions ?

(4) TC=TFC—TVC
(B} TVC=TFC-TC
(Cy TFC=TC—-TVC
(DY TC=TVC —TFC
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24,
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(DY TC=TVC—TFC
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26. In perfect competition in the long run there willbernn_
{A) Normal profits

(B} Supernorrnal profits

{Cy Production

(D% Costs

27.  An indifference curve slopes down towards right since more of orne commo
less of another resultin :

{AY  Same satisfaction 0
(BY Greater satisfaction O

{Cy  Maxinurmn satisfaction *
(D% Decreasing expenditure @

25. Which of the following results in the flow of fu%
{AY  Creditors issued bills payable &
(BY Loss on the sale of machinery
{Cy  Transfer to general reserve

(DY  Building sold on credit @

29. If netprofitis Rs. 25 iting off preliminary expenses of Rs. 3000/ - then the
furds frormn operati :

(A) Rs. 25,080/-

ich of the following is a non-currerdt lability 7
{AY  Bills payable

(BY Sundry creditors
{Cy  Bank overdraft

{I%  Long termn loans
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31. Match the followings :
List - T List - IT

{ay Indira Awas Yojarna iy  This prograrmmne was launched in 2001
This programme abms at providing wage
emnployrment in rural areas and food
security to the people.

(v  Sarnpoorna Grarmeen Yojana (ify This iz a major scheme for constru
of houses to be given o the poor 0
cost.

{c}  Pradhan Mantri Gram Sadak (iii} This was introduced in Ay 99 a
Yojana result of restructuring and % ng the

Irtegrated Rural Dey
Programmme.
{dy Swaran Jayantl Gram Swarozgar (v This was introduced in"®&cember 2000

Yojana to provide r nraptivity through
good all we rffads to uncormected

village
Code: 0
() (B} (g} (d) @
@y @ G 6 @) &
B 6 @ v @)
© @ G @ 6

Oy v @ @ 6 (b"
32, Match the following : +

List - I List - I
@ iy  Provides loans to address short4erm
balarce of payments problems.
iy Multlateral trade negotiating body.

(iify Facilitating lending and borrowing for
recorstruction and development.

{ivy Central Bank of India.

(e}
(a) @@ vy @ 3
(By vy (i (@ @
(Cy @b @ G @
Dy @ an 4o v
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3.

24,

Ivlatch the iterns in Lisf - T with iterns in Lisf -

Mlatch the iterns in Lisf - T with iterns in Lisf - 1T -

List -1
{ay Margin of Safety
(b ROl
{cy Current Ratio
{dy Cash Equivalerts
Code:

(e} (B} (c) (d)
(ay (@ ) @ v
(By iy &y (v (i)
(Cy vy @ @ @
Dy @ an dm v

List -1
{ay Theory X
{bhy  Theory Y
{c}  Theory Z
Codes :

() (B} (c)

(ay @ 4n 4
(By @y (i )
(Cy @b @ @

Dy & &

(ay @ an  dm v

(By i) (i vy @

(Cy vy @ 4n ()

(D) @b @ v 4D
D — 0808
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In:

List - II

Eaming Power

Cash Flow statermnent
Break Even aralysis

Solvency

G
@0

List - I

7

II:
Lisf - IT
Unity of comomand
Achisverment Motvation
WL.E.O.
4 Ps of marketing
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(D @l @ dvy 4D

D — 0808 15 PT.O,



36. Match the following :

List -1

(Decisions vegavding branding)
{ay Diversification (i}
(b}  Quality (1}
€ Vaslety =
{dy Packing {iv)

Code:

(b (B} (g} ()
(Ay b vy ()
(By iy by v )
(Cr iy @ G
(D) dvy iy db )

37, Sintements :
i}  Owvercapitalisation is desirable
iy Undercapitalisation is more des:tral:rl
{AY Both are Correct
(BY Both are incorrect
()
(D)

{1} is correct (i) is incorr

(i} is correct (ibis inco

38. Stafopenis

eh productivity

List - II

(Explanation)

Preservation of product

Production of orne or more products
Finding of new products in same line

Warious product

iy High mum]e i
(ily High morale 4‘ ot necessarily lead to high productivity

(Al
(B
()

incorrect (i} is correct

fepients

Maslows theory corwveys hygiene factors

{ily Maslows theory conveys satisfied need is no more a notivator

{1} is correct (i} is Incorrect
{if} is correct (i} is incorrect
Both are correct

Eoth are incorrect
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40,

41.

4z,

& fafemenis

i}  Agency theory relates to the relationship betweern managermert and

ermnployesas.
{ily Agency theory relates to middlemen
{AY  Both are correct
{(BY Both are incorrect
{Cy {1} is correct {11} is incorrect
(D% (i) is correct {1} is incorrect

Siafements
Asserfion - (A) : Dermand for a commodity refers to quantity § thefrormmodity
dermarnded at a certain price during any particular Pegdd of time.

Reason - (R) :  Contraction of demand is the result of @3 i the price of the

good concerned.
{AY  Both (A) and (R) are correct O
(By Both (A) and (R) are incorrect @'
{Cy  (A) iz correct but (R) is Incorrect &

(I} (A) iz Incorrect but (R) is corr

A leader uses the following :
i}  Uses criticism

{ily Encourages gro

{iify Sets objectv
{ivy Gives orders jrections
i etw ds are used by a democratic leader 7

(B) (i) and ¢v)
D) @), @ and (v)

Overall objectives are set at the top of the organisational hierarchy
Individual objectives coincide with objectives of the organisation
(iily TPerformnance should be evaluated periodically

{ivi Objectives are dedded at the subordinate level

ta)  (Dand () (By (D), (i) and (1)

(C) (@ and gi) (D) ) (@), () and Gv)
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44. Staffing includes :
iy Training
(il Appraisal
(iily TIlacement
{ivi DHirecting
(a) ¢ and 1) (B) 6, (1) and (1)
(©) (@ and {1} D) (@ ({), ) and {v)

45, Working capital cyce involves the following :
i}  Acguisiion of Raw material O
{ily Finished goods O
{iify Receivables
fivi Cash 4
fvi  Work In progreas
Which of the sequence is correct ?

(A (@), () @ (v (@ (By (i M (v
(Cy ) (v), @D, ), v {D@ @ (), i), (v)

Read the following passage and

Accounting is the process of 1
Information to permit informed j@ifge
It primarily focusses on measir analysis, interpretation and use of information.
ac ting links an information source, a chanrnel of
iwers. Accounting systern should be designed to classify
sis suitable for dedsior-making purposes and to process

the tremendous g e data efficdlently and accurately. Financial accounting is
corcerned with proWging information to external users and it is oriented towards the
preparation off taternents which surnrnarises the results of operations for selected
periods iz ant show the financial position of business at particular date.

nting is concemed with providing information to managers to carry
ibilities and functions such as planning, execution, control and decision
The end product of the finandal accounting process is a set of reports called
taternent, such as, profit and loss account balancesheet and statemerd of
in finandal position. Profit & loss account shows the results of operations for
erind of Hime, balance-sheet shows finanical position on certain date and statemnent
of changes in financial position shows where the finandal resources have come and
where they have gone.

46, A listof assets, Habilities and owner’s equity of a business enterprise as of a specific date

is:
{AY  Income Staternent (B Cash Flow Statement
{C} Balance Sheet (D} Profit and Loss Account
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rafEn g vl ¥

SR

{Hy —HEE

Gy e

vy Frdie wen

(A) @) F i) (BY (1) (i) 3 (i)
(Cy (i) 2 i) (D} (@) @i, (i) 2 v

=y

Ty A e f frefefae wher B
) e o T W

(ify  Feoam

(i) W ey

(ivh  TEE

S B it

w2 wE Y

(AY (v, dith (3 (v (3

(Cr o (v @), i), {3v)

Frorfirfigd STTeie ot T AW 46 W 50

i R vy Tt e o
Teppars 2w B vl B ous

R HE R A R UL =3 & Yo wely un ey v T wm e AR X
. i R i o afery Tyanm (adedeen)y fawown & ey wew
Tepar ween F Poe o Y dlifaile wum  Yael welyann O wiivny wey wsky afn Rl tydw el

A E TRET B

few? wfwo wmy w7 Pt Bivan fofs wmoworn Fuem ol wafusy weop wY o wn
Bl

(AY 2wy Tagrw (BYy =reel ey Yayapony
(Cy H&w wte (swr-enyg faam) (DY #s-ge ayen Ygarm

D — 0808 21 PT.O,



47,

45,

49,

50,

The balance-sheet is related to the income staternent in the same way that :
{AY A poirt in Hirme is related to a period of thne

(BY A period of tine 1z related to a point In thne

{Cy A pointin timne is related to another point in time

(IH A period of tine is related to another period of time

The properties owr by a business enterprise are called :
{AY  Assels (B} Liabilities
{Cy  Capital (I Owrer's Equity 0

Which of the following is an important reason for studying accnurg
(A} The irdormation provided by accounting is useful in@ any ecorornic

decisions.
{BY Accounting plays an mportant role In sodety
{Cy  The study of accounting could lead o a areer.
{T%  All of the above.

Statemnent of changes in financial p r shiggys
(A} Souwrces and uses of funds Aszzets and Tiabilities
{Cy  Income and Expenses 3 Losses and Gains.
-oo-
¢
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48,

49,

50,

e ol weey awy wher B v WY rE m R RS
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